Name___________
Stoichiometry I, II, III

Fill-in the blanks

1. Reacting 2.5 moles of aluminum with copper (I) sulfate. Calculate how many moles of copper metal will be produced.



___Al (s) + ___Cu2SO4 (aq) ------> ___Cu (s) + ___Al2(SO4)3 (aq)
2.5 mol Al x  ----------------- =           mol Cu
2. When 25.0 g silver phosphate reacts with ammonium chloride. How many moles of precipitate are formed?



___NH4Cl(aq) + ___Ag3PO4 (aq) -------> ___(NH4)3PO4 (aq) +  ___AgCl(s)




     1 mol Ag3PO4                mol 


25.0 g Ag3PO4 x ---------------------x ---------------------- =       moles _____     







       mol 

3. When 0.45 moles of iron metal react with oxygen in the air to produce rust (Fe2O3), calculate how many grams of rust are produced.


___Fe(s) + ______(g) ------------> ___Fe2O3(s)
                 


          mol Fe2O3

       g


0.45 moles Fe x --------------------x --------------------- =          g Fe2O3




          mol Fe  

     mol
4. When 2.8 mol of H2SO4 reacts with Al(OH)3 it will produce aluminum sulfate and water. Calculate the number of moles of water produced.


___H2SO4 + ___Al(OH)3 -------->  ___ _______ +  ___ Al2(SO4)3



2.8 mol H2SO4 x ------------------- =           mol H2O
5. When magnesium is reacted with 10 grams of nitrogen gas, calculate the moles of magnesium nitride produced.



___Mg + ___N2 (g) ------------>  Mg3N2





             mol Mg3N2


10 g N2 x ------------------x ------------------- =            mol Mg3N2





g           mol 
6. When 3 moles of lithium reacts with water to produce how many grams of H2 (g) ?


___Li + ___H2O ----------> ___LiOH + ___H2




    mol 


          g


3 mol Li x ---------------------x-------------------=

g H2




    mol

     mol 
7. When 25.0 g of propane C3H8 reacts with oxygen to produce CO2 and H2O. Determine the moles of H2O produced.


25.0 g C3H8 x -----------------------x-------------------------=          moles H2O  
